JET

JWL-1221VS R eIels B R:11g]=

JWL-1221VS-M..719200M..1~230V,50Hz

PARTS LIST

JPW (Tool) AG
Tamperlistr. 5
CH-8117 Fallanden

Switzerland
Phone +41 44 806 47 48
Fax +41 44 806 47 58

www.jettools.com

P-719200M 2016 - 08


http://www.jettools.com/

Bed Assembly — Exploded View




Bed Assembly — Parts List

Index No Part No Description Size

1o, JWL1221VS-201....... LI L1102 Te [0 VTP PU PP UPTPPRPPPRR
2 e, TS-0255021 .............. Socket Head Button SCrew........ccceevvvevvvieeeeeeeniinns 5/16”"-18x1/2" ......eeve......
3 TS-0207071 .............. Socket Head Cap SCrew ......cccveeeveeeeiiiiviieenieesniiinns 1/47-20x1-1/4" ...............
4o, TS-0720071 .............. LOCK WaSher.......cuvviiiiiiiiiiieee e A
5, TS-1490021 .............. HEX Cap SCIeW......ciiiiiiiiiiiiie ettt MBXL6 .....ovvverireeeeiiienen
[ I 6295717 ... 3T o TR PERR
T, JWL1221VS-207E..... MOtOr Pulley ACCESS DOOK .......ccuviiiiiieiiiiiiiiiiite et rveeeeee s s ssirbreee e e e s sarbeeee s
8., TS-081C022.............. Pan Head SCreW...........ooccvvvieeeee e #10-24X3/8” ......cccuvve.
9 e, JWL1221VS-209....... IVIBOINEL ...t e e e
10, JWLL221VS-210E..... BEA ..ottt ettt et e e e e ttee +aateeeeeanbeeeeaanneeeeanaeeeeanees
11, TS-081C022.............. Pan Head SCrew.........cccevvieeiiiiiiieieeeee e #10-24X3/8" ..o
.................. JWL1221VS-TBA...... Toolrest Base Assembly (includes #12 thru #19) ... ..cccccovviiiieiiiiiieiieee e,
12 i, JML-59A......ccoiiieene. Lock Handle Assembly ........ccccccevviiiiiienieeeiiiiiiieenn, 5/16”-18x5/8" ................
13 e JWL1221VS-213....... L0 L] L= B 2T U PSR
14 .. JWL1221VS-214....... RUBDEI COVET ... e
5. JWL1221VS-215....... [T oT o= 11 To3 o o [P PPPPPPINt
16 e, JWL1221VS-216....... Toolrest Clamp BOlt........cooiiiiiiiiiiiiie e e
17 . IML-44 ... (@3- T o RS
18 .. JML-81 ..o, HEX NUL. ..t e e e st e e s b e e s e e e nbee s
19 .. JWL1221VS-219....... L@ {1 oo S STW-14..coooiiiiiieeee
20 .. JWL1220-142............ TOOIMESE ..t B e
21 . JWL1220-142A ......... TOOIMEST. ..t 107 e
.................. JWL1221VS-TA ........ Tailstock Assembly (includes # 17, 18, 22 thru #34) ........coovviiieeeiieiiiiiiieenn,
.................. JWL1221VS-THA...... Tailstock Handwheel Assembly (includes #22 thru #24) .........cccccceeeeviiinvnnenn.
22 e JWL1221VS-222....... = 0T | O
23 e JWL1221VS-223....... HANAWRNEEI ... e
24 . TS-0267021 .............. SEESCIEW i 1/47-20X1/4" ..o
25 i, JML-45A.......ccovn. Lock Handle Assembly, Tailstock.........c...ccoevvvveenn. 5/16”-18x3/4" .......ccoo.....
26 i JWL1221VS-115....... Socket Head Button SCrew.........cccccovvevviieeeeeenninnns #10-32x5/8".....ccevceenn
27 i JWL1221VS-227....... Y ettt hee e e
4 IJML-58 ..., Eccentric RO, TAIlSTOCK ........oveeeeie et et
29 .. JWL1221VS-229....... 0] o] o= g 01 RO PRRPT
30 .. JWL1221VS-230....... [T o o =S P
1 AR JWL1221VS-231....... QUIML e bbb
32 e IML-63 ..o (O oo TR STW-10..ciiiiiiieiiiieeens
33 e, JWL1221VS-233....... TailStoCK Clamp BOIt.......coiiiiiiiiiiiiii e e
7 JWL1221VS-234....... LI 1) (o T SRS
35 .. 708331 ..., Live Center Assembly (includes #36 thru #39) ........ «.occcievieeiiiiiiiiieee e
11 I JML-52 ... [ =T 1 (=T gl o T PP PPPPPPINt
37 e, JML-52A...ie Center Point fOr LIVE CENET ......cocuviiiiiiiiee it ettt
38 e BB-6002Z7................ Ball BEANNG ...coeiivieeeiiiiee et 6002ZZ ..o,
39 i, JML-54 i Live Center Shaft...........oooiiiiii e e
40 .............. JWL1221VS-240....... Yo o g = U 1= SR
41 ... 6295796 .......evvveeeennn Nylon Insert Socket Set SCrew .......cccccvevveeeviiivieenn. 1/47-20x3/8” .......cuvveen.
42 . TS-0640081 .............. NYION NUL ... 5/167-18 ...cooeeeiiieeens
43 . JWL1221VS-243....... Y, [0 1 (o G ] - RS PRRP
44 .............. JWL1221VS-244....... 1Y o] 1 o RS
45 ... JWL1221VS-245....... = Lol 0 1= 0 1= YU PERR
46 ... TS-0051061 .............. HEX Cap SCrEW.....ccvvieiiiiiiiiiieee e 5/16”-18x1-1/4" .............
A7 e JWL1221VS-247....... RACK. ...ttt e
48 ... TS-081CO011.............. Pan Head SCreW...........euvvvvieviieeiiieeeeeieeieeveeeeveeeennnnns #10-24x1/4” ...
49 ..o JWL1221VS-249....... HOOK ...t e e e et e e e
.................. JWL1221VS-MASSE Motor Assembly with Sensor set (includes #51 thru #65).........cccccceevviivvneenn.
5l .. JWL1221VS-251E..... DC Motor (includes #51 & #52) ......ccceiiiireiiieieiiies ceriiieeestieeessnieeeeseaee e snees
52 i, JWL1221VS-252E..... MOTOr LADEL......coiiiiiiiiieiee et tteee e e e e st r e e e e s eanreaee s
53 . JWL1221VS-253....... (O {1 oo TSR STW-17.oviiiiieiiiieeens
54 .. JWL1221VS-254....... Special Magnet CoOllar .........c.uvviiiie s e
55 . JWL1221VS-255....... LT ] T SRRSO
56 .. TS-1533032 .............. Pan Head SCreW.........ccoocvvviiieie i M5-0.8Px10 ........ccvvvee.



57 i JWL1221VS-257 ....... BraCKeL. ...ttt e

58, JWL1221VS-258....... S T=T 1 1STo ] G 1Y/ (0] (o ] S
59 i, TS-1533042 .............. Pan Head SCreW.........cooovvvvviiiiiiiecieiiee e, M5-0.8Px12 ..
60 ... TS-2283102 .............. Pan Head SCreW.......ooooovvvvviiiiiiiiiieeeiiee e, M3-0.5Px10 ..
61 ...eeee. JWL1221VS-261....... 1Y/ o] (o] GO0 1Y/ O
62 .. JWL1221VS-262....... SHraAIN REIET ..ot e e
63 TS-2284082 .............. Pan Head SCreW.........cooovvvvveieiiieeeiiiee e M4x8..............
64 ...ccvven. JWL1221VS-264....... Motor Carbon Brush with Cap (not ShOwn) .......cccc. voveiviienieiniiinns
65 TS-0733031 .............. External Tooth Lock Washer ..........ccccoeevveeiiivivnnnnnnn. #10....coonennn.
66 ... JWL1221VS-266....... RUDBDEI COVET ... e eaaae
67 oo TS-0560071 .............. HEX NUL..eeveciiieeeee e #10-24...........
68..cccceeen JWL1221VS-268....... KNOCKOUL RO .....ovviiiiiiiiiiiiie e eevvbben e e e e e eeaaaes
69 ... JWL1221VS-269E..... Wrench (includes #70).........cccceviiieeeiiieee e, M33 and M30
.................. JWL1221VS-269....... Wrench (includes #70)...........cccccvveeeiiiiciiiieennen. 77X 8 TPI L
70 .. JWL1221VS-270....... [ {0 o] o TST 00 1Y/ <Y N
T1 i JETPLATE-9238....... JET Nameplate .......c.oooeviiiieiiiee e 92x38mm......
T2 e, TS-081C072.............. Pan Head SCreW.......ocooovvvvviiiiiiieieieiee e, #10-24x1-14"
T3 e, JWL1221VS-273E..... ID LADEI .o M33..oeeieeee
.................. JWL1221VS-273.......ID Lab€l .......coveeiiiiiiiiiiiiiieeiiiiiiieeeeeeviiieee s M30
.................. JWL1221VS-273ZA .. ID Label ......coevvveeeiiiiiiiiieeeeeeeeeeieeee i VX8 TP
T4 .............. TS-0253031 .............. Socket Head Button SCrew.........cccceeevveeeiievvviiiineeenns #10-24x1/2”...
75 e, JWL1221VS-275....... (©1 7= 3 o1 o RS 38",
76 e, JWL1221VS-276....... ClAMP e /2",
TT e JWL1221VS-277 ....... COrd SNAP RING ..t eee e s e e
4 TS-0254021 .............. Socket Head Button SCrew.........cccceeevveeeivevviiiiineeenns 1/4-20 x 1/2”..
79 s JWL1440VS-243E..... Warning Label (Not Shown) ..........cccccevniiiiiiennnenn. 97 x 70mm....



Headstock Assembly — Exploded View




Headstock Assembly — Parts List

Index No Part No Description Size

.................. JWL1221VS-HAE...... Headstock Assembly (includes #4 thru #37) .......ccc. vooviiiiiiiiie i
1o 6294736E........cccc.... 37 Faceplate .......occcvvviiiiii M33 x 3.5mm................
.................. 6294736EAU............. 3" Faceplate..........ccccceeveeeiviiiiiiiiee e M30 X 3.6mMM
.................. JWL1221VS-101....... 3" Faceplate ........cccecvvvveeeeeeiiiiiiiiienieeeniiiiiieeneenn 177X 8 TP,
2 e, 6295796 .......eveveeennne Nylon Insert Socket Set SCrew ........ccccceveeeevicvvveenn. 1/4-20%3/8” ...vvvvveeeeiinnns
3 JWL1642-102............ SPUF CENLET ...t MT2 w/ M33/M30........
.................. IML-3 .eoeiiiieieiiiiiieeee. SPUF CENEET v eseiiieee e ssiiineeeeee MT2 W17 X 8 TP L
A IML-3A..ooiiiiiiee, Center PoiNt fOr SPUF CeNEET .....vviiiiiiiiiiieece e ciiis ceee e
A TS-0253031 .............. Socket Head Button SCrew..........cccceeveveeeeiiiieeennnnee. #10-24X1/27 .o,
5, JWL1221VS-105A..... Cover (serial #1302315 and higher) ..ot i
[T JWL1221VS-106E..... SPINAIE......ccoiiiiiieiiiiee et M33 x 3.5mm................
.................. JWL1221VS-106EAU Spindle..........ccceevriiireiiiiiiiiiiiee e, M30 X 3.6mMm
.................. JWL1221VS-106A..... SPINAIE......cccviiiiieiiiee e eeee e esieeee e T X8 TP
T o, IML-5 e KBY ettt 5X5X25Mm .....coovvieeeennns
8., BB-6005VV ............... Ball BEaring ......c.cvvvvveeeiiiiiiiieieee e 6005VV ..o,
1S S TS-1521021 .............. SEESCIEW i M4*0.7PX6 ......eevveaneeeen.
10, JWL1221VS-110....... SPINAIE SENSOT COllar........ociviiiiiie e e
11 .. JWL1221VS-111E..... HEAASIOCK . ... .. eiieiiiie ettt eeeiee e e stee e e s e e e enae e e e e
12 . JWL1221VS-112....... SeNSOr, HEAASIOCK ........eeiiiiiiiii e e
13........... TS-2283102 .............. Pan Head SCrew.........cooocuiiiieiiiiiiiiieee e M3x0.5PX10.......cccccunnee
14 .. JWL1221VS-114....... BFACKEL. ...ttt e
5. JWL1221VS-115....... Socket Head Button SCrew.........cccccovvvvviieereeenninnns #10-32x5/8".....ccevceeenne
16 .. JWL1221VS-116....... V-Belt.oooiie 310J .
17 . JWL1221VS-117....... SPINAIE PUIIBY ...ttt ee —etee e e seee e e s eneee e e anee e e s enees
18 .. 6295710 .....oeeiiiiiennns (O 110 To T PP PTPPO S-25
19 .. JML1014-188............ 1S o] 1 o SRS
20 .. JWL1221VS-120....... Pan Head SCrew.........cccoeviiieiiiiiiee e M3X40 ...,
21 . JML1014-189............ 10 1=l o USSR
22 i BB-6004VV ............... Ball BEAINNG ...cccoivieieiiiieeeiee et 6004VV ...oooiiiiiiiiieees
23 e JWL1221VS-123....... HANAWRNEEL ...t e e e e e e e nnaee e
24 . TS-0267021 .............. SEESCIBW .ttt 1/47-20xX1/4” ..o
25 JWL1221VS-125E..... PUlEY ACCESS DOOF........oiiiiiiiiiiiiiiee ettt et
26 .. JWL1221VS-126E..... SPEEA LADEI ...cceiiiiiiiiiiiii et reeer e e e e s e e e e
27 e TS-0267041 .............. SEESCIEW et 1/47-20x3/8” ....oeeeens
28 e, JWL1221VS-128....... Pan Head SCrew.........cccoovivieiiiiiiei e M3X50 ....eveieiiieeeiiieen,
29 . 4224B-179................. NYION NUL ... M3 .
3l JWL1221VS-131A..... SPINAIE LOCK PiN....eeiiiiiiiii et et
32 e JWL1221VS-132....... 1Y o] 1 o SRS
33 e, JML1014-187 ............ C-RING. ittt STW-9..iiiiiiiieees
7 JWL1221VS-134....... Y o] 1 o RS
35 e, TS-081C042.............. SCIBW ..ttt #10-24X5/8".....ccovcvieeens
36 . JWLI1221VS-136E-..... O-RING . .eeiiieiiiiiieiiiie e eiee et e et e st e e e st e e e snnaee —eseeeesanseeeesanneeaeaneeeesannees
Y A JWL1221VS-137E..... Warning Label .........cuuiiiiiiie it ctteeee e e et e e e e s



Controller Assembly — Exploded View

Controller Assembly — Parts List

Index No Part No Description Size Qty
.................. JWL1221VS-CAE...... Controller Assembly (includes #1 thru #14)............. cocecveeeviiiiiiieeee e, 1
1o, JWL1221VS-301E..... SWILCH BOX ..ciueiiieiiiiieiiiiee et ettt ete e s tee —eteeeesanteeeeeaneeeeesnaeeesannees 1
2 e, JWL1221VS-302....... TaPPING SCIEW..cceeeeiiiiiiiieee e e e e eiitreee e e e sirrreee e e M3X19 .., 4
1 I TS-1540011 .............. HEX NUL. ..o M3 . 2
R JWL1221VS-304....... Digital REAUOUL ......ccoiiiiiiiiiiii et e 1
5 s JWL1221VS-305....... Pan Head SCrew.........coocuviiiiiiiiiniiicee e 1V/1C5 024 0 B 2
[ I JWL1221VS-306....... Control Potentiometer ASSEMDBIY ..........vvviiiiiiiiiiis e 1
A 4224B-148................. SWILCH FWA / REV ...ttt eetiee e e stee e e enee e e e e e 1
8., 72-2004E................... MagNELIC SWILCH.....coiiiiiiiiii s e 1
9 s JWL1221VS-309E..... Control Panel Label ... e 1
10, JWL1221VS-310....... MOLOr COrd, FEMAIE ... .ot e et e e eeen 1
11, AT B A A T 2 @ ] o [ R 1
12 e, JWL1221VS-320....... Strain Relief ... 6B3-2 ., 2
13 JWL1221VS-317AE .. Circuit Board ASSEMDIY .......ccvviiiiiiiiii s e 1
14 e, JWL1221VS-321....... LI o] o1 LT TS = SRR 4
16, JWL1221VS-316E..... Strain Relief........ccooiiiiiiiie e PG, 1
17 . JIML-69 ..o |11 (O oo ) SRR 1
18, JWLIL221VS-3L8E..... EMC ... .ottt ettt ettt e e setee e e s tbee +antteeesanteeeesanteeeesnsaeeesannees 1
19 .. JWLL221VS-3LOE..... PIALE. ... .. ittt ettt tbes —aabbeeesaabee e e s aabe e e e anbeee s snneas 1
20 ... TS-081C022.............. TAPPING SCIEW ...cei it ittt ettt ais teesasne e e e snre e e s snre e e s saneeee e 2
21 .. TS-081C032.............. Pan Head SCreW.........ccoccvvviieiie i #10-24X1/2"......ccccvve. 2
22 i, TS-069204 ................ Flat Washer ... #10..iie e, 2
23 e, IML-70 ..o Strain Relief ... SBON-4 ..cocovivieiiieees 1
24 ... JWL1221VS-311E..... POWET COMU...uuiiiiieiiiiiiiiiiieeeeesiiiiieee e e e e s sstbvaeeeeeessas sbreeeeeesssassssreeeaaessssnssreeees 1



POTENTIOMETER

] FWD/REV
Switch

Digital

BU(CW,
RD (V+)

Readout
B
—

PRINTED CIRCUIT BOARD

GNYE

N

EMC
e

| =11}

EMC FITER

1/0S/0€¢

GNYE

BN | B

L1
N
PE

984eydans anayouaap Jayeyaszanyasiselaqn 440-1n0 peojiano 10
93ny113uad UNaYIUB|IIP J91jeyasyeniyail4 yaums |esnjLauad (o)
ayanes/ay04p "NwW0d J93eYdSsSumydLIyaiq YouMms Suisianai INY]
a|qisny Sunuaydis asny 4
anbiuoa1o919 3un udYuI iuoay3|3 UUN J1U0IPI|D 3
An3a)esusapuod Jojesuapuoy 19suapuod o)
anaydnaiaqul 1911eYdS yaums S
Jnajow 1010\ Jojow N

uonelaidiaqul uayd1az Jap Suninapag JoquwiAs jo Sujueaw
13|01 119]0IA 13|0IA 1A
9a8ueiso ?8ueiso 98ueio [>70)
aunel-Jan q|as-unid Mo[|9A-uaai8 | JAND
su8 neJs Aau3 AD
uniq uneuq umouq NE
98nou 104 pa4 ay
aune/ qas8 moj|eA IA
ns|q ne|q an|q ng
due|q yam auym HM
Jlou ziemyds yoelq ne

SUOp.0J S3p N3N0 uagJeyuazi] SpueJ3s J0 Jnojod

N—I—Qm n>°mN\(F----------EQQNQ—\N

IN-SATZZT-IMC




